



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Nursery

Subject	Text book	Publisher	Note book	
			Class work	Home work
English	<ol style="list-style-type: none">Hands on learning English Beginner: stage 1 uppercase lettersAlphabets book – Visual KnowledgeHappy learning English - A	Saar Saar Saar	4 line 100 pages book – 1 no	
Maths	<ol style="list-style-type: none">Hands on Maths - AHappy learning Math - A	Saar Saar	Square note book 100 pages – 1 no	
EVS	Hands on Environmental Studies	Saar		
Rhymes	Hands on Classic Rhymes - A	Saar		
Art & Craft	Art School - A	Saar		
Patterns	Hands on Pattern Writing basic strokes	Saar		



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025 -26

LKG

Subject	Text book	Publisher	Note book	
			Class work	Home work
English	1. Hands on English – B	Saar	200 pages 4 lines book – 1 No	200 pages 4 lines book – 1 No
	2. Fitzroy Readers Stories 1-10	Saar		
	3. Fitzroy word skills 1	Saar		
	4. Happy learning series English - II	Saar		
Maths	1. Hands on Maths – B	Saar	100 pages box book – 1 No 200 pages box book – 2 No's	
	2. Happy learning series Math - B	Saar		
EVS	1. Hands on Environmental studies – B	1. Saar		
	2. Environmental studies Book 2	2. Viva		
Rhymes	Hands on Classic Rhymes - B	Saar		
Art & Craft	Art school - B	Saar		
Drawing			50 pages plain drawing book	



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

UKG

Subject	Text book	Publisher	Note book	
			Class work	Home work
English	<ol style="list-style-type: none">Hands on English – CFitzroy readers [stories IX – 10X]Fitzroy word skill 1XHappy learning series English IIIAUP – English	<ol style="list-style-type: none">SaarSaarSaarSaarAmity	200 pages 4 lines book – 1 no	200 pages 4 lines book – 1 no 100 pages 2 lines book – 1 no
Maths	<ol style="list-style-type: none">Hands on Maths – CHappy learning series Math - III	<ol style="list-style-type: none">SaarSaar	100 pages box book – 1 No	100 pages box book – 1 No
EVS	<ol style="list-style-type: none">Hands on Environmental Studies – CViva Environmental Science – Book 3	<ol style="list-style-type: none">SaarViva	100 pages 4 lines book – 1 no	
Rhymes	Hands on Classic Rhymes - C	Saar		
Art & Craft	Art School - C	Saar		
Computer science	Information Technology	Macmillian education		
Kannada	<ol style="list-style-type: none">Radiant kannada akshara malePuttani Padyagalu	<ol style="list-style-type: none">Allied PubSubhas	100 pages double line book – 1 no	
Hindi	<ol style="list-style-type: none">Hindi Akshara lekhanaHindi Varnamala chitravali	<ol style="list-style-type: none">GrafalcoGrafalco	100 pages double line book – 1 no	
Drawing			50 pages plain drawing book	



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade I

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gul Mohar - 1 2. Collins English Grammar and composition - 1 3. New stepping stone – Reader 1 4. Phoenix English Cursive writing - 1 5. Mind your Spelling - 1	Orient Blackswan Collins Pub Headword Pub Phoenix Pub Kids Can Books	100 pages 4 line book – 2 no's 80 pages 4 line book – 2no's
2.	Kannada	1. Savi Kannada 2. Madhura Baraha - 1	Government book Madhuban Pub	Double line 100 pages book – 3 No's
3.	Hindi	Nutan Saral Hindi Patamala - 1	Goyal Brothers	Double line 100 pages book – 3 No's
4.	Mathematics	Wow Math - 1	Eupheus Learning	Square lines 200 pages – 1 no Square lines 100 pages – 2 no's
5.	EVS	The Blue Planet - 1	Goyal Brothers	4 lines 100 pages interleaf – 2 No's
6.	Digital Literacy (coding, Robotics & AI)	D Code	Kips learning	4 lines 100 pages book – 1 No



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade II

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English course book - 2 2. Collins English Grammar and composition - 2 3. Supplementary reader – tree lover by Ruskin bond 4. Cursive Writing – 2 5. Mind your spelling - 2	Orient blackswan pub Collins pub Puffin Pub Phoenix Pub Kids Can Books	4 lines 100 pages – 4 No's
2.	Kannada	1. Savi Kannada – 2 2. Kannada Ratna (copy writing) - 2	Government book Saraswathi Pub	Double line 100 pages – 3 no's
3.	Hindi	1. Gunjan Hindi patamala - 2 2. Vykarana Sambhod - 2	Madhubhan Pub Madhubhan Pub	Double line book 200 pages – 1 no Double line 100 pages – 2 no's
4.	Mathematics	Wow Math -2	Eupheus Learning	Square lines 100 pages – 2 no's Square lines 100 pages – 2 no's
5.	EVS	The blue planet - 2	Goyal Brothers	Interleaf 4 line 100 pages – 3 no's
6.	Digital Literacy (coding, Robotics & AI)	D code	Kips Learning	4 lines 100 pages book – 1 No



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade III

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English course book - 3 2. Collins English Grammar and Composition - 3 3. Writing Skills - 3	Orient blackswan pub Collins pub Indiannica Pub	4 lines 200 pages – 2 No's 4 lines 100 pages – 1 no
2.	Kannada	1. Savi Kannada – 3 2. Kannada Vykarana - 1	Government book Subhas	Double line 200 pages – 1 No Double line 100 pages – 2 No's
3.	Hindi	1. Gunjan Hindi Patamala - 3 2. Vykarana Sambhod - 3	Madhubhan Pub Madhubhan Pub	Double line 200 pages – 1 No Double line 100 pages – 2 No's
4.	Mathematics	Wow Math – 3	Eupheus Learning	Horizontal 200 pages – 2 no's Horizontal 100 pages – 1 no
5.	EVS	1. The blue plant – 3	Goyal brothers	Interleaf 4 lines 200 pages – 2 no's
6.	Digital Literacy (coding, Robotics & AI)	D Code	Kips Learning	4 lines 100 pages – 1 no



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade IV

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English course book- 4 2. Collins English Grammar and Composition - 4 3. Writing Skills – 4 4. Supplementary reader – Black Beauty by Anna Sewell	Orient Blackswan pub Collins pub Indiannica Shree book center	Single line 200 pages – 2 No's 4 lines 100 pages – 1 no
2.	Kannada	1. Savi Kannada 4 2. Kannada Vykarana part 2	Government book Shubhas	Double line 200 pages – 1 No Double line 100 pages – 2 No's
3.	Hindi	3. Gunjan Hindi Patamala - 4 4. Vykarana Sambhod - 4	Madhubhan Pub Madhubhan Pub	Double line 200 pages – 1 No Double line 100 pages – 2 No's
4.	Mathematics	Wow Math - 4	Eupheus Learning	Horizontal 200 pages – 2 no's Horizontal 100 pages – 1 no
5.	EVS	1. The Blue Planet – 4	Goyal Brothers	Interleaf single line 200 pages – 2 no's 4 lines 200 pages – 2 no's
6.	Digital Literacy (coding, Robotics & AI)	DC Code	Kips Learning	Single line ruled book – 100 pages



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade V

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English Course book - 5 2. Collins English Grammar and Composition - 5 3. Writing Skills – 5 4. Supplementary reader – Robinson Crusoe	Orient Blackswan pub Collins Pub Indiannica Shree Pub	Single line 200 pages – 2 No's Single line 100 pages – 3 No's
2.	II Language Kannada	1. Savi Kannada 5 2. Kannada Vykarana part 3	Government book Shubhas	Double line 200 pages – 1 No Double line 100 pages – 2 No's
3.	II Language Hindi	1. Gunjan Hindi Patamala – 5 2. Vykarana Sambhod - 5	Madhubhan Pub Madhubhan Pub	Double line 200 pages – 1 No Double line 100 pages – 1 No
4.	Mathematics	Wow Math - 5	Eupheus Learning	Horizontal 200 pages – 2 no's Horizontal 100 pages – 2 no's
5.	Science	Enhanced Science - 5	Collins Pub	Interleaf single line 200 pages – 2 no's Interleaf single line 100 pages – 1 no
6.	Social science	Getting Ahead in Social Science - 5	Orient blackswan pub	Interleaf single line 200 pages – 2 no's Interleaf single line 100 pages – 2 no's
7.	Digital Literacy (coding, Robotics & AI)	DC Code	Kips Learning	Single line ruled book – 100 pages



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade VI

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English Course book - 6 2. Collins English Grammar and Composition - 6 3. Writing Skills – 6	Orient Blackswan pub Collins Pub Indiannica	Single line 200 pages – 2 No's Single line 100 pages – 2 No's
2.	II Language Kannada	1. Siri Kannada 6 2. Kannada Vyakarana part 4	Government book Shubhas	Single line 200 pages – 1 No Single line 100 pages – 2 No's
3.	III Language Kannada	Kannada Ratna -3	Saraswathi Book House	Double line 200 pages – 1 No
4.	II Language Hindi	1.Vasant Baga-1 2.Sarthak Hindi Vyakaran--6 3.Supplementary Reader-Bal Ram Katha	(NCERT) Saraswati pub NCERT	Single line 200 pages – 1 No Single line 100 pages – 1 No
5.	III Language Hindi	Saksham -6	Saraswathi Pub	Single line 200 pages – 1 No Single line 100 pages – 1 No
6.	Mathematics	Wow Math - 6	Eupheus Learning	Horizontal 200 pages – 2 no's Horizontal 100 pages – 1 no Plain note book 100 pages – 1 no
7.	Science	1. Science Success – 6 2. Practical note book (100 pages – 1 no)	Goyal Brothers Navneet Pub	Single line 200 pages – 2 no's Single line 100 pages – 1 no
8.	Social Science	Social Science Success - 6	Goyal Brothers	Single line 200 pages - 1 no Interleaf single line 100 pages - 1 no
9.	Digital Literacy (coding, Robotics & AI)	DC Code	Kips Learning	Single line ruled book – 200 pages



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade VII

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English Course book - 7 2. Collins English Grammar and Composition - 7 3. Writing Skills – 7	Orient Blackswan Collins Pub Indiannica	Single line 200 pages – 2 No's Single line 100 pages – 2 No's
2.	II Language Kannada	1. Siri Kannada 7 2. Kannada Vyakarana part 5	Government book Shubhas	Single line 200 pages – 1 No Single line 100 pages – 2 No's
3.	III Language Kannada	Kannada Ratna - 4	Saraswathi Pub	Single line 200 pages – 1 No
4.	II Language Hindi	1. NCERT Vasant-2 2. Sarthak Hindi Vyakaran-7 3. Supplementary Reader-Mahabharat-	NCERT Saraswati pub NCERT	Single line 200 pages – 1 No Single line 100 pages – 2 No's
5.	III Language Hindi	Saksham - 7	Saraswathi Pub	Single line 200 pages – 1 No Single line 100 pages – 1 No
6.	Mathematics	Wow Math - 7	Eupheus Learning	Horizontal 200 pages – 2 no's Horizontal 100 pages – 2 no's
7.	Science	Science Success – 7 Practical Record book (100 pages – 1 no)	Goyal Brothers	Single line 200 pages – 2 no's Single line 100 pages – 1 no
8.	Social Science	Our Past Part-2 Social & political life-2 Our Environment-2	NCERT NCERT NCERT	Single line 200 pages 1 no Single line 100 pages 1 no
9.	Digital Literacy (coding, Robotics & AI)	DC Code	Kips Learning	Single line ruled book – 200 pages



Delhi World Public School

Under the aegis of Delhi World Foundation

Booklist for the Academic Year 2025-26

Grade VIII

Sl.No	Subject	Name of the Book	Publisher	Note Books
1.	English	1. Gulmohar English Course book - 8 2. Collins English Grammar and composition - 8 3. Writing Skills – 8	Orient Blackswan pub Collins pub Indiannica	Single line 200 pages – 2 No's Single line 100 pages – 2 No's
2.	II Language Kannada	Siri Kannada 8	Government book	Single line 200 pages – 1 No Single line 100 pages – 2 No's
3.	III Language Kannada	Kannada Ratna - 5	Saraswathi Pub	Single line 100 pages – 1 No
4.	II Language Hindi	1.Vasant-3 2.Sarthak Hindi Vyakaran-8 3.Supplementary reader- Buddha Charita	NCERT Saraswati pub PP PUB	Single line 200 pages – 1 No Single line 100 pages – 2 No's
5.	III Language Hindi	Saksham - 8	Saraswathi Pub	Single line 200 pages – 1 No Single line 100 pages – 1 No
6.	Mathematics	Wow Math - 8	Eupheus Learning	Horizontal 200 pages – 3 no's Horizontal 100 pages – 1 no Graph book 40 pages – 1 no Plain note book 100 pages – 1 no
7.	Science	Science Success – 8 Practical Record book (100 pages – 1 No)	Goyal Brothers	Single line 200 pages – 2 no's Single line 100 pages – 2 no's
8.	Social Science	Our Past Part-3 Resource & Development Social & Political Life-3	NCERT NCERT NCERT	Single line 200 pages 1 no Single line 100 pages 1 no
9.	Digital Literacy (coding, Robotics & AI)	DC Code	Kips Learning	Single line ruled book – 200 pages